M=

ol

ak

ol

£

Ell
oK

RT
o

ol
&l

==l

et Chest ™Meldl=0l 0

Sd0f

EEs

2

1 =¢e

—

—

X el ol

PN

A

=

~

A
o0

KJ

00

ol

ok

)

JHEOl

ol

oK

ol
RO

_

oJ

ol

alll

0l
H

4

0
o0

4
Kt0

o
ur

Ct.

(=)
—

Bauxsol

Ju
00

[
O "red mud waste"

JHHIZ At

=
(=}

ot

o
T

=
=

P

1oy
K0
oJ

X

t

A X2

Ea
=

A 201l A
S IAMO0IE HEHA (bauxite refinery) OIA MaAt=l £

=
[—

=2

=

Al M
S

—/

ol
Rr
&l

Ju
o3
r
I9)
Ok

o0

ol

=)
=

b

il
=}

2 20 JHAl Ol&e

Bauxsol

(cocktail)OI C}.

txl el

AAHo=Z
FOIL AFE &I D QUL

=)

HIHAIZ
Xel, At
3

t==2

c=
==
o

|
LEHES
1ot 2F X

—

(6]
—

35
i—laly
O

ol
HH

Ho

st
=

agealli: =y DN RS

o

<k
ol
ol
0B

nl

ol
Rl
ORU
10f

fal

0
0D
falll

ol
<

ol
KO

ol

ol
dr

Kt

NN

=
2=
=

.I

20
[

H ELOHEM,

=)

= Eldl

A
=

=)

=2
=

EPNEEDN,

A

NOZE ME

4ir
fo
K0

Ol A

|Xet 11 20ILk d=2 S40l Tet

70

st =

Ss]

H

HY Ol A

=

F

1oy

=]
S

=
ok

o1
KO

oJ

i0J
]

ol
KM

Z g = A= JI=0l 270

=)

X
=

_|

==

=aaso
So=a=



(Bauxsol)S
0| C}.

del2z

ol

= DR

Eay
=

e
I9)
x
I

oI
uir

0l

e
i |

E1=PAIS,
t= Zd0ICt.

t

[l

S

Bauxsol It SRB Jl== &&
32 MEE

2L

B
00

J
oF
bl

ak

¢

b= HIAl

gto
O

o
IH
0
ur
0l0

o)

9]

4

<
S o

A Xl LH

Ea
=

f

ni

- BA0IE Jt22(Bauxsol)

E

70
ur

P

g3

JHHIZ AFEAIS 1D

=
= =]

- Bauxsol

kg
IH

X0
ur

o1

Z(SRB)2

o
=

2|

b

At &

StA
[=3

Bauxsol 1t

F

o
[ty

8¢

P

Eg= PR

Al

=
0[0

Ju

=
A

—_

Y

Kt0

Ho
O T

deiut Pb 2

Ct.

= Aoz LIESLE.

=

(o]}

b Bauxsol 1+2|
HOA HAHE X

Y
—

=
S o

A Kl LH
Cu % Cr2 32& 99% 0l

A

=

I

pum

<

-

ol

1]

—_

oJ

—_

~J

&l

=
Y,

)

o
10

<

Ol
Rl
[0
X0

A

R

=

?
AL <

0l

&l

b Ol

2
o

SEMZ MEEHLZMN

OH & XI LK

4

Ol [:|. CC St

=X
e

X
=

b

=2
=

NE=

=0f

0l

=
[

—

_I

(o)
X

Sot=
Xel

ol
o3

<+
U

<

-

~0
H

il

ol
Ll
00

dr

XelJt

O
[

S
A

.I

f

ni

=
2 JIH= L

=ciXle
o

St

S
8 Jts

st

et Cr 2

22 0|2 Y= s ANz

Cu

=
==

[9)

—

o

2 OICH.
It



